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A man had 16,000, part of
which he lent at 4% and the rest

at 5% per annum simple interest. If the total interest

received was 700 in one year, the money

lent at 4% per annum was

TS HATEHT o UTH 16,000 & & RroeRt 9 70T 4% W
IR AT 5% ufe o Aremor s W 3uR fEr afy s
ST TTH gAT Teh AT | 700 T, 4% Tfa a9 w1 IUR &
TR TEST AT RIS -

(1) 12,000 (2) 8,000

(3) 10,000 (4) 6,000
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Find the interest on Rs.1500 for 2 years at rate of 4% per annum
compounded annually.

4%, ITdaY o AT(Heh <Ishdl g chl =X T 1500 TUT UT 2 I kT sATST IATd

c
N NN

CALSEL
1. 120 2. 1215 3.1224 4. 124.8
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Find the interest on Rs.5000 for 2 years at rate of 10% per annum

compounded annually.

10% TTdaS ok ATk DAshalleg, shl X H 5000 FAL U 2 AW KT AT T4
hITST

1. 1205  2.1050 3. 1240 4. 1048
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Find the compound interest on Rs.3600 for 1(1/2) years at 5% per
annum ?

3600 T TX 1(1/2) Y & T1T 5% Ui o9 BT S A <rshd (e, SATS AT
Hrfrr?
(a) Rs.189 (b) Rs.274.5 (¢) Rs.229.5 (d) Rs.210
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Find the compound interest on ¥1,60,000 at 10% per annum for 1 years,
compounded semi annually.

%1,60,000 T 10% ST T T R A 1 T KT Ashelleg, SATH JATd ST, ST
ANk T | GIHTRTA BT 2

(2) 34,500 (b) £16400 (c) T 15,800 (d) 20,000




y MISSION SSC 2023 /LT [ IV

Find the interest on Rs. 10000 for 3 years at rate of 5% per
compounded annually.

5% TTdaY ok ATk Ashdl<g hl =X H 10000 U UT 3 TY kT AT ATd

c
N NN

CALSEL
1.2205.50 2. 1578.75 3. 1568.50 4. 1248.45
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Find the interest on Rs.50000 for 3 years at 20% per

annum compounded annually.
20% T o ST Tehellg, shl X H 50000 TUF UL 3 T R AT T4

CRIN DI
1. 35500 2. 36400 3.36500 4.34400




If the rate of interest be 4% per annum for first year, 8% per
annum for second year and 10% per annum for third year, then

the compound interest onRs.20000 for 3 year will be:
'ﬂﬁﬂ%ﬁ'aﬁ' T3] d:z\l a¥ 4% 5”%%, EC\FB{EFG? 8% anﬁTﬁ% 3ﬁ??|°l’!¢ll{<‘>|ﬁ 10% 5”%%, Fﬁ'

399 | 20000 F. KT eshalleg SATST BN :
1.4700 2.4710.4 3.4714 4.4720.8




If the rate of interest be 5% per annum for first year, 10% per
annum for second year and 20% per annum for third year, then
the compound interest on Rs. 10000 for 3 year will be:

ITE UEel TH ST hi &X S‘V(,anﬁEE%,Ecﬁ{aﬁ 10% T & 3T a1 a9 20%

ATk 2, a1 3 T T 10000 F. T Akl (g, ST BN :
1. 3800 2. 3860 3. 3516 4. 4820




If 2000 becomes 2420 at the rate of 10% compound interest in certain

period then find the time period?

Ffs 2000 Tk @ Tw AT H 10% TTehalleg SATS shY T H 2420 T AT &,

U AT AT shiTSTA?
(a) 2.5 year (b) 1.5 year (c¢) 2 year (d) 3 year
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A sum of Rs.15,000 is lent at 10% per annum compound interest. What is the

difference between the compound interest for the second and the third year ?

15,000 U T T 10% ATTSR Sehdles AT U IUR & AT 71 TAL AR Ao o
Tehdl (g, ST & Ser okt e feheraT 82
(a) Rs.165 (b)Rs.155 (¢)Rs.150  (d) Rs.148
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What is the difference between compound interest and simple interest for 2 years on
the sum of Rs.6,800 at 15% per annum?

6,800 T T T TR 15% Tt o9 kT A 2 T4 o o0 =rehclfg, ST SR ATLROT AT
% Sfier ST 3R T B2

(a) Rs. 148 (b) Rs. 153 (¢) Rs. 163 (d) Rs. 155




Find the difference between the compound interest
simple interest on Rs.20000 in 3 years at 5% rate of

interest.

20000 %. T LTI U 5% SATST hi 5L 3 TH ok eAshdlleg sATS T ATLRT
SATST ohT 3T+a¥ AT ShITT |

1.177 2. 152.5 3. 177.75 4. 152.25




The difference between compound interest and simple interest on
a certain sum of money in 2 years at 10% rate of interest is 20.

Find the sum. \
T 2 AT H 10% SATST chl & H Ueh (I UARTIIT U eAshalfeg ST 3T ATLRUT ST i
3T 20 BUT | &FITI9T ST hiteT |

1. 1500 2.2000 3. 2500 4. 3000




If the difference between the compound interest and simple
interest in 2 years at certain rate of interest for Rs.5000 is

Rs.72, then find the rate of interest.
gia 5000 TU o o0 Teh T AT G H 2 AW o Ashallg, AT TR AT

SATST ohT 3T+a¥ 72 SO 2, AT AT 2% 37T <hiTeTe |
1. 6% 2. 8% 3. 10% 4. 12%




A sum doubles it self in 4 years at compound interest fmd
it becomes how many times of the sum in 20 years.

Teh SAXTIT Tkl lg, AT UX 4 AT | Fod hl SHIT &1 SATAT € | T it 20
IO/ TE T <kl Tehd= THT BT ST |

1.4 2. 8 3.16 4,32




A sum triples it self in 5 years at compound interest find
it becomes how many times of the sum in 20 years.

Tk ST SAshdlfg ST U 5 U H & okl T[T 21 STl 7 | J1a shitsrd 20
I H g T <kl Tohd= THT BT ST 2
1. 20 2.9 3. 81 4. 27
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A sum of Rs.2500 amounts to Rs.5000 in two years at compound interest.

Find the interest for four years?

ASh (g, SATS WX &1 AT | 2500 T T AT 5000 TIA B SATAT ¢l AR ATA BT
ST 1T shiToTd?
(a) £7500 (b) 10,000 (c) 5000 (d) £2500
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A sum of 8,000 deposited at compound interest becomes double after 4

years. How much will it be after 12 years?

TSh (o5, SATS G AT <h 715 8,000 hY T 4 AT g IRHT BT AT 81 12 AT
a1e I fohaqT g
(a) Rs.56,000 (b) Rs.64,000 (c) Rs.80,000 (d) Rs.40,000







